UNRMIKNAIAINNY - 1490 Touchbar FALCON.

ININST.1090
Concealed Vertical Rod Panic Device Installation Instructions

Applies to EL and standard 1490, 1491, 1492, 1493, 1494, 1495

n Prepare door.

11/16”
Model Trim Package ) { Ii l 21/32"
1490 None % j_r
1491 9970 Pull Trim LHR shown Sop J L 1
1492 NL Cylinder : 11/16”

: RHR opposite #29 drill and #8-32 t
1493 HB Cy“nder. . . in hearc; j:r?lb for strilfep,
1494 9970 Pull Trim with NL Cylinder 1-1/4” 4 places
1495 9970 Pull Trim with HB Cylinder 7/8:-| r_
1/8”
Hole Schedul | —Latch side‘” “‘ Hinge side
ole Schedule ! . 716" ¥
Q 1_3x/s } TN 147 rad. typ.
1-3/8”
No cylinder ... Omit L >§3o(%;3ftgr§,'ﬁk
Cylinder ........ 1/4” drill, 82° countersink to 25/64” dia.
to 25/64” dia., push side;
Figure 1-2 shows pull side 17/32” minimum !
cylinder cutout - 916
21/32” minimum I
13/16”
NO pu” tl’lm Om|t 3-1/2” ‘ B ) minimum
Pull trim ........ 5/16" drill, 1/4-20 tap, pull side L o e b
. ; 5 /’8 2-3/8 ; 12,, L
Pull Side Cylinder Cutout device ) f
2= 1 N—#16 drill,
4»‘ ri1/8" 1/4” dla_// g J 2.13/16" 12-24 tap

| T - 9-1/4"
13/16” B /G

“D”
40-9/16”
_——7Face of sto
1-11/32” dia. ~
pull side
cylinder cutout ~-3/8” #9 (0.196”) dia.,
82° countersink
to 25/64” dia.
7/8”
Dimensions shown are for 1-3/4” doors. 1 — 17/32” minimum

All cutouts are push side unless otherwise noted.

5/8” dia. through
/ threshold

Figure 1

=I= . © Allegion 2014
wY Customer Service Printed in U.S.A.

. ININST.1090 Rev. 01/14-c
ALLEGION 1-877-671-7011  www.allegion.com




P Cut pushbar to length.

21.

23.
2.4.

2.5.

2.6.

Measure @ to ¢ of mounting holes (“D” dimension on page 1, Figure 1).
2.2, Subtract 5/8” from “D” dimension to determine cut length (“B” dimension in Figure 2). See
chart below for minimum “B” dimension.

Device |“B” Dimension Minimum “B” Minimum “B”
Length Supplied Dimension (non-EL) | Dimension (EL)
36” device 32-5/8” 24-5/16” 31-3/8”
42" device 38-5/8” 24-5/16” 31-3/8”
48’ device 44-5/8” 33-5/16” 40-1/4”

Collapse pushbar, tape down in cutoff area, and mark “B” dimension on tape (see Figure 2).

Keep chips out of mechanism by stuffing a rag into end of pushbar before cutting. Keep rag out

of the path of the saw. Cut pushbar and channel, deburr, and clean chips from pushbar and channel.
Pull the two rubber bumper strips from the screw grooves, cut off 1” so the bumper strips are 1”
shorter than the pushbar, and reinstall bumper strips into screw grooves.

Tap #8-32 x 1” deep into each screw groove in end of pushbar.

Pushbar

Tape cutoff
area

Figure 2

Screw grooves

/— Channel

Hinge side

Change handing of device if necessary (non-EL devices only).

3.1.
3.2.
3.3.
3.4.
3.5.

Note: 1490 pushbar labels
(only handed part of device):
4270107320 Gold w/black letters RHR
4270107321 Black wi/silver letters RHR
4270107322 Gold w/black letters LHR
4270107323 Black wisilver letters LHR

Remove pushbar and channel from activating assembly.
Remove washers, retaining rings, and link from activating assembly.
Reposition link on activating rod and lift lever to hand activating assembly as required.

Reinstall washers and retaining rings.

Reinstall pushbar and channel.

Activating rod
Retaining ring \

Activating assembly

s
Lift Ie—\\ and washers 7\

Figure 3




Y Install device.

4.1. |Install strike into frame.

4.2. Install rod assembly into lock stile and secure top and bottom latches using #10-32 flat head screws.

4.3. If using cylinder, cut tailpiece, assemble cylinder cartridge assembly, and install in door.

4.4. |Install mounting plate (knobs facing stile) and channel end cap with #12-24 round head screws.

4.5. |Ifinstalling an EL device, drill 1/2” diameter electrical wiring hole through 3/8” diameter hole in mounting plate

and through push side of door.

4.6. Slide pushbar assembly into mounting plate on hinge stile.

4.7. Attach latch side of pushbar assembly with #12-24 flat head
screws through pushbar assembly, latch side channel end cap,
through the door, and tighten into the rod assembly.

4.8. If using pull trim, install pull trim.

4.9. Install pushbar end caps.

/—Stri ke

Pull trim P 5 #10-32
\ S /‘Iat head
| =
Cylinder U -
cartridge © Pushbar
assembly assembly

Channel

Py

N

2

&:‘ﬁy/(////w;.,.i:‘

E A\

> >
T

‘ 8
~ o\
~ Pushbar

AN

Cut tailpiece to 1-3/4” ) & end cap
(for 1-3/4” doors) #10-32

#12-24

flat head

flat head Figure 4

Pushbar
end cap (with
UL label)

/%@ & #12-24

v round head

Channel
end cap

EL ONLY:
Drill 1/2”
dia. hole

Mounting
plate

E Adjust top rod if necessary.

Note: Test the door to make sure the top latch will lock when the door is
closed and will open properly when the pushpad is depressed.
See Figure 5-1 for correct latch bolt position with door open and closed.

If the top latch bolt will not release when the pushpad is pushed and the
door will not open, the rod is adjusted too short.

If the door opens okay, but the door will not lock, the top rod is too long.

To adjust top rod length (Figure 5-2):

5.1. Remove the end cap.

5.2. Remove the two #12-24 latch side device mounting screws.

5.3. Remove the two #10-32 top latch mounting screws and the two
#10-32 bottom latch mounting screws.

5.4. Slide the rods assembly out the top of the door until the top rod
lock nut is accessible. If lock nut is not accessible, remove door.

5.5. Loosen the top rod lock nut.

5.6. Lengthen or shorten rod length by threading latch up or down.

5.7. Adjust rod until latchbolt functions as shown in Figure 5-1.

5.8. Reassemble device and test for proper function.

doorclosed  dooropen

g o © o 0
%

| Figure 5-1

#10-32 flat head
Lock nut

@y
} #12-24
—Endcap =~ flathead

Figure 5-2




E If installing EL device, wire device.

EL1490
Solenoid with = Solenoid must be wired to a PS914 po ppl
o id mu wir wer supply
p°tt§ga‘ig°“'t Black } with a 900-2RS or 900-4RL option board installed.
Red
f\o Green To other
equipment
/ o Black as required
LLatch bolt monitor switch. Switch Solenoid wiring must be 12 AWG, 200 feet
shown with latch bolt fully extended. maximum, between PS914 and EL1490.
Switch changes when latch bolt is Any references to a Von Duprin EL device
retracted by pressing the pushbar or apply to EL1490 series devices. EL1490 series
applying power to the solenoid. devices are fail secure locking devices.
120 VAC PS900
power —
supply Potted circuit

board

Solenoid

,— Control switch
(pushbutton,

E| keyswitch, etc.)

EL1490 {}
Electric/

power

transfer
or inOt Channel end cap not
shown for clarity

Electric power
transfer

Electrical Specifications

The potted circuit board is a protection circuit. It
disconnects power from the solenoid if the plunger does
not seat within a specified time. To reset the protection
circuitry, remove power from the solenoid and reapply.

Voltage: 24 VDC
Current: 16 A inrush (0.3 sec.)
0.25 A holding




RN EL FALCON.

640029-00
Electric Latch Retraction Installation Instructions
Retraccion del pestillo eléctrico Instrucciones de Instalacion
Retrait électrique du verrou Notice d’installation

n Install device per its installation instructions and adjust so that the latch functions well mechanically (EL disconnected)

Instale el dispositivo siguiendo las instrucciones correspondientes y ajuste de manera que el pestillo(s) funcione correctamente de manera
mecanica (EL desconectado)

Installez I'article comme le prescrivent les instructions et réglez-le pour que le verrou fonctionne bien mécaniquement (verrou électrique
débranché)

E Check Adjustment of EL Solenoid and Adjust As Needed
Verifique el ajuste del solenoide EL y ajuste conforme sea necesario
Vérifiez I'ajustement du solénoide du verrou électrique et réglez au besoin

u E Hold pushbar down thru steps D-F
Sostenga el paragolpe de refuerzo
hacia abajo durante los pasos D al F
Maintenez la barre antipanique
baissée pour les étapes D a F
)
o
E Hold bracket back E Hold plunger back ﬁ Adjust nuts if needed
Detenga el soporte Detenga el émbolo Ajuste las tuercas de ser necesario
Retenez le support l'arriére Retenez le poussoir vers l'arriére Réglez les écrous au besoin
) O] =] ) Ol ]
- i =
T O] F o]
Must have slight gap (.010-.020”)
Debe haber un pequefio espacio (.25-.50 mm)

Il doit y avoir un faible écart (.25-.50 mm)

B Drill Wire Access Hole
Perfore el orificio de acceso del cable
Orifice d'accés pour cable

E Drill

Perfore
Percez

5/8"

X
o)_




n Connect Cable

Conecte el cable
Branchez le cable

E Route Two Wires from EL to Power Supply
Enrute dos cables del EL al suministro eléctrico

Branchez les deux cables du verrou électrique
a une source d'alimentation électrique

See Power Supply Instructions for EL System Wiring

Ver instrucciones del suministro eléctrico para consultar
el cableado del sistema EL

% Voir les instructions pour I'alimentation électrique du
PS914-2RS cablage du systéme de verrou électrique
or/o/ou PS914-4RL .
Power Supply T

Suministro de energia
Alimentation électrique

Run Length

Longitud de serie
Longueur de plage

0-100 ft. (0-30 m)

EL Device w/EPT or Door Loop
Dispositivo EL c/EPT o presilla de la puerta
Verrou électrique avec EPT ou boucle de porte

14 awg

101-200 ft. (30-61 m)

Run Length
Longitud de serie
Longueur de plage

0-75 ft. (0-23 m)

12 awg

EL Device w/Electric Hinge/Pivot
Dispositivo EL c/bisagras/pivote eléctricos
Verrou électrique avec charniére/pivot électrique

14 awg

76-150 ft. (23-46 m)

12 awg

EL Specifications
Especificaciones EL
Spécification du
verrou électrique

AR Continuous Duty:
Uso continuo: 24 VDC
Service continu :
Current Inrush:
Corriente de entrada: 16 A

Courant d'appel continu :

Current Holding:
Corriente de mantenimiento: 0.3 A

Retenue continue :

dEA

|

4]
ALLEGION

Customer Service
1-877-671-7011

Servicio al cliente Service a la clientéle

© Allegion 2014
Printed in U.S.A.
640029-00 Rev. 01/14-c

www.allegion.com/us




	FALCON1490TECH.pdf
	Falcon_Electric_Latch_Retraction_Installation_Instructions_-_English_French_Spanish_107434

